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B.A.-7313-G   [ Y„Ã[˝Ã[˝ Y úˆÁÃ^ V–rÙ[˝Ó B.A.-7313-G  

ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
ac˜ÁÃ^Eı YÁPˆy‘] ( Subsidiary )  

◊•Tˆ›Ã^ Yy [ S-1 : Indian Society (SSO-2) ] 

a]Ã^  f ª◊TˆX H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 3 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) Y“ÁªJÙ›X \ˆÁÃ[˝„Tˆ a]ÁL[˝Ó[˝ÿöˆÁÃ[˝ Y“E ı◊Tˆ [˝ÓÁFÓÁ EıÃ[˝”X* 
 (F) Y◊Ã[˝[˝ÁÃ[˝ EıÁ„Eı [˝„_ ? Y◊Ã[˝[˝Á„Ã[˝Ã[˝ EıÁ^ÔÁ[˝◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 
 (G) aÁ]Á◊LEı ÿôˆÃ[ ˝◊[˝XÓÁa EıÁ„Eı [˝„_ ? \ˆÁÃ[˝Tˆ›Ã^ 

aÁ]Á◊LEı ÿôˆÃ[˝ ◊[˝XÓÁ„aÃ[˝ È[˝◊`rÙÓm◊_ Eı› Eı› ? 
 (H) %ÁW˝«◊XEı›EıÃ[˝S EıÁ„Eı [˝„_ ? %ÁW˝«◊XEı›EıÃ[˝S \ˆÁÃ[˝Tˆ[˝„bÔ 

aÁ]Á◊LEı Y◊Ã[˝[˝Tˆ¤X ◊Eı\ˆÁ„[˝ A„X‰ªK˜ ? 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) G–Á]›S BEıÓ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊[˝◊\ˆ~ G–Á„]Ã[˝ ]„W˝Ó 

YÁÃ[˝&◊Ã[˝Eı ◊X\ˆ¤Ã[˝`›_TˆÁ %ÁY◊X Eı›\ˆÁ„[˝ [˝ÓÁFÓÁ 
EıÃ[˝„[˝X ? 

(F) ◊c˜≥V« ◊[˝[˝Ác˜ [˝_„Tˆ ◊Eı Â[˝Á„MıX ? ◊c˜≥V« ◊[˝[˝Ác˜ aey‘Á‹ôˆ 
◊[˝◊\ˆ~ %Ác˜O„XÃ[˝ =‰{F EıÃ[˝”X* 

(G) \ˆÁÃ[˝Tˆ[˝„bÔ =YLÁ◊Tˆ ◊[˝[˝Ác˜ C p˚Á◊Tˆ-a+EÔı ◊[˝b„Ã^ 
AEı◊ªRÙO ªRÙO›EıÁ ◊_F«X* 

(H) G–Á]-`c˜„Ã[˝Ã[˝ %X«YÁTˆ C Y“[˝–L„XÃ[˝ ]„W˝Ó a+EÔı Eı› ? 
(I¯) \ˆÁÃ[˝„Tˆ Y◊Ã[˝[˝Tˆ¤X`›_ LÁTˆ [˝Ó[˝ÿöˆÁÃ[˝ =YÃ[˝ AEı◊ªRÙO 

ae◊l˘ä ◊X[˝μ˘ ◊_F«X* 
(ªJÙ) aÁ]Á◊LEı a]aÓÁ ◊Eı ? aÁ+“◊TˆEı \ˆÁÃ[˝Tˆ›Ã^ a]Á„L 

ÂEıÁXÀ V«◊ªRÙO a]aÓÁ a[˝‰ªJÙ„Ã^ mÃ[˝”±ºˆY…SÔ [˝„_ %ÁYXÁÃ[˝ 
]„X c˜Ã^ ? a◊[˝ÿôˆÁ„Ã[˝ ◊_F«X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 
(Eı) \ˆÁÃ[˝Tˆ›Ã^ ÊY“l˘ÁY‰ªRÙO ◊Eı ◊Eı W˝Ã[˝„XÃ[˝ B„EıÓÃ[˝ =‰{F 

EıÃ[˝Á ^ÁÃ^ ? 
(F) W˝]Ô EıÁ„Eı [˝„_ ? AÃ[˝ ◊\ˆ◊w¯m◊_ ◊Eı ? 
(G) aeï ıTˆÁÃ^X EıÁ„Eı [˝„_ ? 
(H) mÃ[˝” XÁX„EıÃ[˝ V`ÔX ◊Eı ? 
(I¯) %◊\ˆ[˝ÁaX C Y“[˝Áa„XÃ[˝ ]„W˝Ó YÁUÔEıÓ ◊Eı ? 
(ªJÙ) ÈLX W˝„]ÔÃ[˝ Y“W˝ÁX =da[˝m◊_ ◊Eı ◊Eı ? 
(ªK˜) =~Ã^X EıÁ„Eı [˝„_ ? 
(L) Â^ÏU Y◊Ã[˝[˝Á„Ã[˝Ã[˝ \ˆÁI¯„XÃ[˝ ◊YªK˜„X Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªRÙO 

EıÁÃ[˝„SÃ[˝ =‰{F EıÃ[˝”X* 
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English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) Explain the nature of society in ancient 

India. 

(b) What is family ? Discuss the functions of 

family. 

(c) What is social stratification ? What are its 

features in India ? 

(d) What is modernization ? How did it bring 

social change in India ? 

2. Answer any three questions  : 12 × 3 = 36 

(a) What is rural unity ? How will you explain 

the mutual dependence between the 

villages ?  

(b) What do you mean by Hindu marriage ? 

Write about various acts related to Hindu 

marriage. 

(c) Write a note on tribal family and kinship in 

India. 

(d) What is the relation between rural-urban 

ratio and migration ? 

(e) Write a brief essay on the changing 

conditions of the caste system in India. 

(f) What is a social problem ? What do you 

think are the two most burning problems in 

contemporary Indian society ? Explain. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What are the different types of unity in 

Indian context ? 

(b) What is religion ? What are its bases ? 

(c) What is Sanskritisation ? 

(d) What is the philosophy of Guru Nanak ? 

(e) What is the difference between immigration 

and emigration ? 

(f) What are the chief festivals of Jain    

religion ? 

(g) What is development ? 

(h) Mention any four reasons for the break-up 

in the joint family. 

    


